N of reco track vs dxy N of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy

1%} (%] - 12} [%]
x x < B4
[*] Q I [=] o
g & s g
10*F 2 o
10 £ 8 8
i s
L S 10
10°F
E
10° [ 10°
10?
G
2 2
10 10 10
2 e - I
Il 1 ! .
L1111 \IHI IHIHIIHIHIHHIHIHHIHIHM . 'HHIHI\IHIHHIHIHHIHHIHHIHIHHM\HIHHIHIHIHHIHIHIIHIHIHHIHIHIw o 'IHIHHHIHIHI\IHIHIHHHIHHI IHHHIHIHHIHIHHIHHIHHIHHFI L ~ TETETTTVATTAA A 0 -
o 3 Al I AR i . AU e
! | : 1 | 1 1 : 1 Hfft e | : PR AR ARt At
0952 0.95 ' ] 0.9 ' 0. -
5-20-15-10 =50 B -30-15-10 =5 0 & 10 15 20 25 ET3515-10 5 0 5 10 15 30725
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
[N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
2 R 2
Q [=] [5)
g g g
o 2 Q
=] & g
a
=}
=l
10°
10? i F
o I
: AR
4 |
|
i ilIIIIIIIiIIIIlllllWIHIIlIIIIIEIIIIIW S T
H H H H H H H H H H Il
%20 10 0 10 20 30 0%30 0¥ 20 10 0 10 20 30 °¥p 20 -10 0 10 20 30

track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


